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Please make sure that the prmted pages in thS questzon paper are: 24 in number
: and it contams 38 questzons " : o .

. wv—w#m@#w#eﬁrﬁ?wﬁgwmﬁaﬁmmgﬁﬁwa&g@ww
The Code No. and Set on the rzght side of the que&@ton paper should be wntten by
the candzdate on the ﬁont page of the answer-bookg s’

Plel Wwvwaﬁrﬁwgﬁﬁ##qaﬁﬂwwmmq@@

Before beginning to qnswer a question, its Senal Number must be written,
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. aﬁv'gﬁawé‘a?ﬂﬁ@ﬁ?d@'/ﬁ?@?ﬁ_ | Q . s
Don’t leave blank page/pages in your answer—booi@
. ;ﬁg?g%%@ﬁﬁw##w&ﬁ?ﬁﬁﬁvﬁ/ 37T mﬁﬂ%@wﬁ@@@?%@wv
/

Except answer-book, no extra sheet will be gwer’%ﬂ Wnte to the pomt and do not
strike the written answer.

. WWWW?OWFWW@M?WW/ ?}aqo@@;@ﬁwgwwwwg@%v
/%@eﬁ?émwﬁéaa#w@?ﬁmwﬁsmvww/

. Candidates must write their Roll' No. on the quesq_gn paper. Except Roll No. do not

. write anything on question paper-and don't make amy mark on answers of objectwe
type questions.

. mwa}%aﬁ?ﬁ#ga‘aagﬁf\ww#z%ﬂw%g#aﬁﬁ v??afr«?}avwsﬁ
T 4 21§ ¥ aar @ 78 A

Before answering the questzons ensure that you have been supphed the correct. and ‘3.‘

complete question paper no claim in this regard wtll be entertatned after |

'examtnatton _ & R
" --:--' e
wael

General Instructfohs-': oo |
) FEEE IS GT 7 g ' wﬁ?g?a“/

There are 5 Sectzons - A, B, C D and E in thzs quest:on paper

(i) T&-FF1 2 20 7% 1- 1 e;aff%"wv?/ 10\?18 HEJ’:'E@%?WV (MCQs),
g I ﬁaﬁwgﬁ W/@Wﬂwmk@ﬂ?@rw 37 20 aﬁ%’WW ‘
STENRT 797 &1 R e A N'.,
‘Section-A consists of 1 mark quest:ons from 1 to 20. 1to 18 are Multzple

Choice Questzons (MCQS), one word answer, fill in the blank True/ False and
questlon numbers 19 and 20 are Assertton Reason based questlons
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(iti) @Ug - @"#21 #25 WW?%F@'G’H??ZT(VSA)W?;‘ZZ aiﬁa}ﬂ‘?v?f |

Section - B consists cf Very Short Answer {VSA) type questwns of 2 marks
' eachfrom 21 to 25. : : m :

&

() &%-7 #26 ¢ 31 7% Y G (SA) FET.F 3-8 ol b AT &

Section - C co-nsists of Short Aaswer (SA) tgpe qaestions of 3 7mai'ks- each
from 26 to 31 " | -

() - &7#32 #35 WE’?&‘G’W(LA}W%SS e?a:?%w:f??

Section - D consxsts of Long Answer (LA) ‘fgpe questzons of 5 marks each
from,32 t035 e G % '

.(m')- GUg ~ a#wa’awss #38 aawwemerrwﬁa’44 aﬁ%‘wvévm
| 'W#&W‘?ﬁeﬁwzzeﬁé‘wv#ﬁww?f : '

" Question Numbers 36 t0 38 in Sectton E are case study based questzcns

Eé}?ij |

' of 4 marks each Intemal chozce is gtven in each case smdy quesaon of 2

marks each

iy o e o 8 ey @ - B T P P
o ge T G - e%sw##aﬂaﬁafﬁwwwﬁww%aﬁﬁ“
W@ﬁfv#gﬂwéf e Ly nrE

11;34'.
All questtons are compulsory However t}%}rovlszon of mtemal chozce has. -
been made in 2 questions of Sectton—Bfﬁz questions of Section—C, 2

 questions of Sectton-D 3 questzons of Section—E You have to choose one

question of them.
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W =5 o . | -

SECTION - A

_A256941

‘1. 6,727 120 LCM. &
@A) 120 - 7 @ 6
(©) 360 D) 240
L.C. M. of 6, 72 and 120;%;3 _ '

@) 120 oAl & @ 6
ey ggp v T RRE B (D);..2"4_O . g =

2 ﬁtﬁ'ﬁiﬁéﬁﬁ@(ﬁ?%ﬁmqﬁﬁa%? e Akt ‘1
© 2+ J'é et ‘D). sm@ |

941

Wthh of the follov;nng isa rat1ona1 nﬁmber ? :

S ER R i‘t,ne?'). 5245
(© 2+«F AR e e B Ao, A -
73:;wf§maagw%m%sqsqﬁ%ﬁwmmmsr 4@?1%% TR

&) x2 —4x =ik

-.--'__'('B) 'I4x+1 :

(© %2 +4x & 7 (D) X2 +4x+l

325594

The quadrat1c polynormal the sum and product of whose zeroes are 4 and 1 1s
5 B 4x o S gis . (B)" B T

(© x2rax-1 sy - & (D) x2%+4x+1-.
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4 10,7, 4, ... F AT W 62% ? LS | 1

(A) 15?.1?_ R (B) 25dn

(@) 27dE £, (D) 30d
Which term of A. P 10 7,4, 1s 62'?-

(A) 15th R e - 25th-

it

© 27th . S (D). 30&1m

5. 'kwmﬁﬁﬂ%mﬁwqﬁwmzézmmLo%wm% o

@ B e TR s SRR ) |
© 8 R e O

~ Value of k for whlch the quadratlc equatlon kx —2kx+6 O has equal roots igs
@ 6 e e R

(@ 8 e T

6. -i%rgaﬁ -5, 7)3?(? 1 3)%%&1%{ Eﬁﬁt% Ty
W 2B i 4f biEite!
), BB 64_ .
The distance between the pomts 5, 7 and (-1, 3) is :
" BaE in | '_.(3) 1 2:::- |
3 _(C)-SJE A 6\{_‘4 o] |
7. st ABC &R DEF §, /B = AE sC= AF@'{AB DE%, aaaa'gvf%: i |
() e o wTE .',V(B) sl Ao T T
© WWWW o ﬂmﬁwaﬂtww_ |
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(6) -

: ' , _ 7 : = DE, then the two
In triangles ABC and DEF, /B = /E, /C = £F and A.B
Sl 7 ; _
triangles are : | , a2 4 'W‘

(A) Similar as well as cdngruént B) ongrdﬁnt but not slmllal’

- (©) Similar but not Congruent (D) Nelthemcongruent nor snnllar

8. qﬁ@ﬁ%P@O%ﬁmﬁ%ﬁﬁaﬁwm PBWQTQ@TQWSW%mﬂﬁa

q LPOATAE B : . £, 1
BRVARE @ 60
(€ 708 . = b oy Do (D), BOR

2 ‘
If tarigents PA and PB from a point P to a cm‘cle with centre O are inclined to

each other at angle 80° -then ZPOAis. equal tEE

@, B0 g s T ek SRLE
Mol JO° - (D) 8o°
ﬂl'.ﬁ%. .
_ i I
9. _5ﬁmmwﬁ%ﬁﬁpwm‘r%@rm%ﬁoﬁaﬁmﬁﬁw‘(@%f&ﬁqu
-wmﬁﬁ%%oc@—lzﬁ Poﬁaa&‘% M, i e Y
&) 12@@ L .(B) 13 _ifnfﬁ_ B |
L © sﬁ:ﬁ U Ty (D «/119%11#1

. A'tangent PQ at a pomt P of a mrcle of radm»s 5 cm meets a line through the
centre Oata pomt Q S0 that OQ = 12 cm, len%h PQ is:

worem s
(C) 8 cm el o : . (D) m CI.II- '_ ’
1103/(Set : Ay ' |
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1_0-. -sin 60 cos 30 + sin 30 cos 6@&?5[ g F=q 8 7 e Rt A 1
. . O . .
a) -1 .

o :.{:ﬁ B 1
) 0

_ D) 2

What 1S the value of 'sin 60 cos 30'+l_sin ?;0 cos 607
@ -1 il BT

© o e D2

11 ! 81nA=Z,?'ﬁ'tanA.EﬁT‘Tlﬁé®T%_?;l, 3 L | M

(a) B

@le e

©

Ifsin A= %; then what is the value of tan A7 * 1

) S B

i N w_-.

s )

__ m"hfmlﬂu

12, 9sec*A-Otan?A WY, i e Bl Tl
A) 1 £ gl I O (B)-
T I TR T :ﬁ (D) O °

-0

9sec? A-Otan? A is equal S
@ 1 ST e B
v Sy g LS e T - (D | -
1108/(Set:A) aﬁ“i%' T B N o

Y o
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18. BT RAW o0 3 90 RS & v R B PR 1

A P : ‘ B ,
A) 180 " s = (1,3) 180 " _ e

€)

| e S e "
X 2R : R
360 .. .. B ) A xgn

Area of a sector of angle P '(in' degréé) of a circle Witj;l radius Ris 5

oty - A5 2
¥ 1e5 SRR | lgognu
. 2 ‘ '. P -‘l;-i -
& F g e © B oy P iR
“ 560 P Lig o : )-7720x &
5B £

%.%3
d i4". 6@’ﬂ %‘F"“ E"@f 'W Eﬁ % ﬁlﬁ’m"g I ﬁsrw EiEod o 60"‘;@*.." i | 1 .
_-.I(-A : 132 as.ﬁz S (.-.264@%2_ v o '

o, -The area of a sector of a c1rcle wlth rachus 6 Cm 1f a_ngle of the Sector is 60° s

: S I . :g‘;,_. P & = ;
1820 4 o R gy 264 i
‘.(A)" 2 e & L, -(\{ (B)-: o
- - . £ ‘ﬁtl_
(O 1320m? L ot
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15. ﬁm?l@ﬁmﬁm%ﬂﬁwg@xéﬂ%%

(A) 88.7 T - (B) 104.5 ¥
(C) 55444 - D) 39.04 WQ
Surface area of a metalhc sphere having radius @l cm is :
(&) 887cm® ity (B) 194.5 cmp, -

(C) 55. 44 cm?

39.04 cm%

16. qﬁ%mmﬁmmwaﬂ'{wmﬂ 11 &R 17% ammw%

(A) 7 ot (B)‘ 8
© 9 - , e (D) -
If the Mcdlan and the Mode of a data are 11 and 17 respectxvely, then its M(,an
is : | “ . _ ﬂ : :
@ 7 @ 8- E
(C) 9 L " (D) 10 21
ey |
- :

17, Frew R @ R e o oI g o ) P el wam d

lqtommm | 05 | 510 10-153 o} © - 1500,  |.20.38
aeRar | 10 | 15 12 . 20 9
g 45 P T TR g8 T R e '
(c) 30 (D) 35

-~ For the fol]ow'mg dlStrlbuthIl the sum’ of 10wer 11m1ts of the medlan class and

| modal class is : § .
Class Interval | 0-5 | 5-10 . : '1_0'_%"_ ' 15-20 50-25
| Frequency 10 _ * 15 o 15’;& 5 29 § o
@) 15 . B2
) 807 ey (D) 35
“IPET.O.,
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Download from www.MsEducationTv.com

G Scanned with OKEN Scanner



_ s 1103/(Set L A)
18, mmﬁﬁwm%w%lﬁwmmmﬁﬁmﬁm% 1
=
1 = |
W -3 2 - B 3
L7
. . >
1 e e 1 |
© < TR . (D)_ 5 |
. ' ‘ = ‘ | : 3 |!
. A die is thrown once. Theprobability of g'etting-.an odd number 1s : |
® = o B T 6
- A
(p) 5 (D) 5

g -

1‘9.'@#?1%5!:#(&-'«/— Wmﬁﬁ?mmaw%l DRy . |
T (R : T e e T o Vo A et e ¢
| () aaﬁﬁswr(A ei’REﬁRUT ﬁﬁa%aﬂ'{mm aqﬁqm',(mq%@'?mm%
- (B) i (A)aﬁ?w,é‘maﬁaa %aﬁm amur(R) @;W(A)q% a8y e
© Giﬁﬁi?l‘rr A T Y, ﬁ%.aﬁr@"(mw ¥
D) i (&) T ¥, A T R TR Y
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Assertion (A) : J3 is an example of irrational number.
.
<

‘Reason (R) : The square réots of all positive integers are irrational numbers.
_ ) , .
Lr).

(A) Both Asscrtion (A) Reason (R) are true and Reason (R) is the correct

(  explanation of Assertion (A).

(B) Both Asscrtion (A) and Reason (R) are true, but Reason (R) is the correct

‘ explanatlon of Assertion (A).
< ; B
(C) Assertion (A) is true, %Jt Reason (R) is false.
; : ’ m: 5 ’ .
(D). Assertion (A) is false, Blut Reason (R) is true.

3

e T

20. ewﬁﬁwrrm)ﬁﬁ 0,5),y-awa~'rqﬂ%ua%_|' i TR E
qar{urln) ymw%ehﬂfti%‘ngzﬁrx-ﬁ%msméﬁw%l

"(A) W(A)@TW(R ﬁaﬁ%aﬂrw R),W(A)aﬁaamm
Bl

(B) e?f‘}—ﬁﬁ?ﬁ (A’) A BT (a-ﬁﬁf a‘e?r% aﬁsﬁr.?arzér_(m,' ARHE (A) T T T
| %l_ ' - T | £
\O
(C) aqﬁraswm)a'e"r% W(R}‘ﬁfﬁ%i
Fﬂ
(D) ea_fﬁw Tﬁfﬁ% meyﬁ%

) , " P.T: O.
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- Assertion (A) : The pointd0, 5) lies on y«axis.'
Reason (R) : The x—coordi%ate on the point on y-axis is zero.

(A) Both Assertion (A) apd Reason (R) are true and Reason (R) is the correct
"~ explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, But Reason (R) is the correct
explanation of Asserg_i‘!on (A).

(C) Assertion (A) is true,?ut Reason (R) is false.
(D) Assertion (A) is false(¢but Reason (R) is true.

-
- T8 -
,@SECTIONB___ | .
21.ﬁwﬁr11%qa%ﬁqzsmﬁzwﬁ%§mﬁsaﬁ ey | 2
2%+ 8y=13 .* - ' . |
Sx=Ay==2 . °

r

Solve the followmg pair- of linear equatlons
2x+3y—13'"

5x- 4y .

22. WW@WWEIW@@%I H&ﬂ%@ﬁg% Gﬁﬁm%qﬁﬁgﬁ 15m§(%‘_'_
.W%meﬁw%m%a%ﬂqﬁmmzﬁﬁm il | 5.

A tower stands vertlcallypﬁ»n the ground From a pomt on the ground Wthh 1s'
" 15 m away from the foot of the tower, the angle of elevation of the top of the

 tower i is found to be 60° Fmd the helght Of the tower

'1.103,1(Set-: A) ' st
. . . , 5 y
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&
YT 6Y
O
OR Lﬁ
P
S | sg i; T £PST = APRQ%I i%@ a‘ﬁfﬁq fs APQRQEB m%‘ang Bt 21
| 2
)
o\
8/
" Q
In the fig, .ISDS ?T : IdI_LPST=LPRQ._Prove- that APQOR is gn"isosceles_triangle.
s, @R@A@faﬁga%%aﬁs cma%’r?gﬂqf\% qaqwmsﬁma%‘rwéarcm% T H
B A AT _ | e 2

The length of a tangent from a point A- at dlstance 5 cm from the centre of cn‘ole

is 4 cm. Find the radius’ of c1_rcle '

1103/(Set : A) P.T. 0.
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(14) .. . 1103/(Set:A) |

24. e 1 9 s HIg ‘;ﬁ,' R RN
2tan? 45° + cos> 30° —sin? 6(3?)
-Evaluate the following : | | ﬁ :

2tan? 45° + cos? 30° - sin? 60°

25. B 4 om TR @ 97 & Bowave @ e o AP, R A s0e k2

e 4 IR AT L |
* Find the area of the sector of a cirdlle with radius 4 ¢m and of angle 30°.

w9 & agdle @ A i b, Reer a2 A
Find th;a area of a quadrant of a cirE;_lé, Who\sg cifcumférenCe is 22 cm.

G"E‘ “T_'

| sn;qnon c
- 26. ﬁwﬁrﬁq\/—@mﬁﬁum%u T o S 8y B e L8

'_ Prove that \/—5— is irrational numbg

© 1103/(Set: A)
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27. F&'Ermagqax +7x+10 %@WWWWWW%W%W@IQ%
T B S i - ® - oy | | 3

X
Find the zeroes of the Cmadratlc polynomial x2+7x+10 and verify the -

relatlonshlp between the zeroes and coefficients.-

1--|

28, @faﬁﬁﬁfﬂ%mwa@lﬁg @%@Tﬁ%@ﬁﬂﬂwaf 3%:&%%@%9%
H@%zooomwm%awmmmml 3

The ratio of incomes of two persons 1s 9 7, and the ratlo of their expend1ture is

4 : 3.1f each of them manage to save Rs 2 000 per month Fmd their. monthly

1ncome

-g-_;.

LR OR' ;

-----

them.
/

20, R aﬁ;ﬁﬁqﬁgﬁﬂ%ﬁﬂﬁﬂﬁﬁm@gﬁﬁrﬁﬁmﬁr@%@ﬁmﬁw% m&?iﬁgw.

Hqﬁemﬁﬁé\'cﬁ%l ‘ _$, i il S g

m L
Prove that in two concentncgwcles the chord of the larger c1rc1e wh1ch touches

‘the smaller c1rcle is blSected at the pomt of contact., i | F
finsiats ) %, v v G TSR T e MUTTRIEG,
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30. Rrg #Mm: : o s . - ' 3
1+anA=secA+tanA
l-sinA 7
Prove that : : ‘ :: .
l1+sinA o\

=secA+tan A ‘”g

l1-sinA %
- . OR. _- .
fﬁ&’m ,
secA(l—smA)(secA+tanA}—1 R
Prove that: e gj;
sec A(l - sin A) (sec A+ téﬁ Ay=1
31.@@#@&1?%%%%%@3@%&@#%%% | 3

(i) zaﬂre%eﬁaﬁaﬂﬁém
(111) QEE fEN"T q&an
A die is’ thrown once, find the R:pbablhty of gettmg

8

i a prlme number ' | @.
K (11] a number lying between thgnd 6

(iil) an odd number

1103/(Set: A)
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gUs g
secrlow—o
\"'4 '
32. ﬁmw%m% %a%avﬁammsess%l L e, B 5
L i ‘

L .
Find ‘two consecutive poéxtwe integer, sum of Whose squares is 365.

OR
wﬂwsx —2x+§l=0mﬁﬁwmﬁﬁqeﬁtﬁﬂﬁﬁ%ﬁmﬁﬁmwﬁ&

Find the discriminant of the equation 3x? _sz_scf;%zo ‘and ‘hence find the

nature of its roots. Fmd thera, if they are real;_. -

--..!33. 90 cmﬁaﬂrémiﬁ@a:ﬂ%a@raﬁ%@ﬁ%eﬂmﬁﬁ12m/s5b°ram?raﬁ1‘§r
| %laﬁaﬁﬁfﬁr%36maﬁ$ﬂéw% ﬁr4ﬁmwwaﬁq§}waﬁaﬂr§m

w .
| A gu‘l of helght 90 cm is %alkmg away from the base of a lamp post at the speed e
v R 1 2 m/s. If the lamp is 3.6 m above the ground Flnd the length of her shadow q

after 4 second

SPLTO.

i
DI NET

1103/(Set : A)
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34, anmﬁﬂﬁﬂashed)ﬁ@aﬁvm%lwﬁg@ww%aﬂmﬁ%mwwaﬁ

%aﬁmﬁa%la&wﬁg%eﬂmﬁﬁm7mx15m% A TR AT B HAE
8m%, ﬁ%ﬁaﬁﬁﬁéaﬁaﬁrwwaﬂwwﬁﬁmﬁaﬁwﬁﬁiﬂgﬁ

‘r@ﬂrrsﬁafrsoo:n Wm%aﬂ?%%wmaﬁzﬁ%ﬁﬂﬁﬁmowm P

eﬂw%wﬁm%aﬁﬂeﬁﬁ@:ﬁwaﬁ? (n'=—2736ﬁﬁn)" ?,
u_‘a e ' |
3
‘l15m‘i,
77.11'1_ x
8'm

‘Shanta runs an industry in a shed which is in the, shape of a cuboid
-surmounted by a half: cyhnder If the base of the Shed is of dlmensmn 7 thix:15m
and the helght of the cuboidal portion is 8 m. Fmd the volume of air that shed

can hold. Further suppose the rnachlnery in the shed- occuples a total space of

300 m3 and there are 20 Workers ‘each of Whom occupy about O 08 m?® ~space

“on an average Then how much air'is in the shed ? (’I‘ake 7= _27_2) _
v-l o
{ﬁ“i e :
: BT s I T
7mg —
&Y

- 1103/(Set: A) T m%
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——

OR o | ‘
mﬁ@mww%mwﬂéﬁmﬁ%mﬁﬁ%ﬁww%lzﬁﬁ@f
W%Wﬂm%lwaﬁiﬁﬁraﬂ&rr{Sm%kaam@w%aﬂ'{Mﬁ
@Wf’ﬁwmwcm%lwmmwmmmﬁﬁm (n;lgrigaﬁﬁm)

42cm

-
s T
-

-IS_cm

S5cm -

A
i

" “The. decoratwc block shown in- ﬁg is made of two | sohds - d cube and a
- hemlsphere The base of the. block is a cube with edge 5 cm and the hemlsphere

¥ fixed on the top has a dlamcter of 4.2 cm F1nd the total surface area of the

22 & i, 50
block. (Takc n=—7~)._‘ Wi, s
- .
5 cm s
Al
5cm H,.:
: o
.f:;f,.l
5 cm

 Mo3/Set:A) G - %%3 AT e LT g
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35. ﬁq%f@ammmﬁs@ﬁﬁ%@mﬁmﬁ%ﬁﬁﬁ%mﬁ@ﬁ%sﬁ

GIE] © 5
% fog ages il 0 |
i A ; :
Hﬂ%ﬁﬁ T (sm{?i’f %) | Susfermelf i He
6.5—_85 4
. : R
85-105 5
; L0
. 105-125 N
= . L
o - i 18 F‘-:d ;
125-145z~. - | ..55.220
145-165 - 1| 14
165.-1'35 'f g
185205 . | 4

| ~ The following frequency d1str1but1on glves the monthly consumptmn of electnc:lty
_ of 68 consumers of a locahty Find the mode of data :

: Monthly Consumptmn No. of Consumerg- e
(in Umts] ' i .
CBBBR T B | A
85-105. ' - 5|t g
s - W
105-125 . - i v 3 N
S e
125-145 | | 2@*
145-165 - | ¢ 14
165185 .. . © [ g
185-205 o
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36. ﬁoﬁro%ﬁwﬁqﬁmmﬂi‘aﬁﬁmoé‘ro@rowﬁa&ﬁmoa“roaﬂo%é‘rzﬁrwaﬁ T
%{%W@Q%mﬂmﬁwwm%ﬁﬁaﬁmﬁgﬁﬁaﬁ% 5 Y

R :
(mlﬁﬁﬁmm-f'  t t ¥   _t .' -1
(111) (a)W?ﬁﬁﬂﬁWW joarﬁtﬁ@aa?cm e e 2

A'manufactur'er'ofl TV'Sets' produced 600 sets 1n th'ill'd" yEar and 700 'éets in
seventh years. Assummg that ‘the productlon 1ncrease umformly by a fixed

- number every year ﬁnd
(i) the productlon in the 1'st year:

(ii) the productlon in IOth year:

9@1} it

(111] (a) the total productmn in first 7 yearsmr (b_) ,tdtal production in 10-years

37. T 'ma%ﬁ@zaaw@mmmm a‘@‘m-% o % R B
A B &R C T I AW @ § s, W%ﬁa%@ﬁaﬁsﬂmw%waA
%WW%@WDWWWM| |
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10 ;kﬂ
i9 B :g
° 1=
% (]
Z
| . TE 1
0o 12345675":9 10>
,Gqﬁaﬁamﬁr&%eﬂmwﬁrﬁr%f@ﬁmﬁ%wﬁz .\
() "X CH Rafy 5@ AR 214 g 1
(i) o3P 0OF T BH g @ Ao ' 1
(i) (a) 9 ¥ D F Rafy s FRTG, arﬁsaﬁﬁgABceﬂTwaa@ww
@leb)@ﬁTAaﬂTC%Eﬁﬁfﬁ@ e . 2
e

. Resident Welfare Association (RWA) of a soc1ety put up three electric poles A; B
- and C in a society's park, Despite these three poles, some part of the park are

still in dark, so RWA demdes to have one more electnc pole D in the park

10}

9

B

8

7' '
:(5 = ;
: =

5 f—o— Y

. A o

i |

; c )

3 fims

mE =

1

>

© 1 2 3 4 5 6 7 8 9 10
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Based on the above information; answerm%e following questions :
(i)  Find the position of the pole C. (‘3

- (i) Find the distance of the pole B fron}.pofner O of the park.
. <:I1

- (i) (a) Find the posmon of the fourth p@le D so that four pomts A, B,Cand D

L
- form a parallelogram. or (b) Find tlg? dlstance between poles A and C.

38. H@?ﬁ%?ﬁeﬂ?@%ﬂﬁﬁ'%’ﬁﬂé%ﬁ@ﬁﬁﬁ@%ﬁﬁﬂﬂaﬁ% ﬁscbqtsﬁ%aﬁaqzs
| ﬁgﬁ@ﬁ%sﬁémmaﬁwmﬂ60°@T30°%]9ﬁ€5@%a§raﬂ1§201ﬁa%1_'
mﬁaﬁaﬁaﬁlﬁ%enmqrﬁmﬁﬁqamﬁ%wéﬁq '

Bl
Bl

et L. R | o

g o
NGQ 7S
/ 1
/ J
7 B
G S
/B : 73 1
/ - vl o) x’
7 60° X\ ' 30° 0 9
p [ - - [HMp
: _ .,O- N_‘ g ‘
() PO P R I B CREE, LT S
(i) - RO %l &drg & BT~ Sl - - i
(i) (o) TEF B ASE T BT W(b)qﬁ@PQWWWWEﬁW4S°% |
Poa%amémﬁqﬁml | 2
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Two hoardings are put on two pglgs of equal heights standing on either side of
the road. From a point between ﬁem on the road the angle of elevation Of the
top of poles are 60° and 30° ré_spé&ively. Height of each of pole is 20 m. Basis of

above information, answer the follgwing questions :

Keep your city | N ' There is School
clean . . ahead let's go slowly
A o 7S .
2 7
7B : V]
/ * .
ol a! z
20my i v
e n B
- U s N /
/ 60° X\ _#{ 30° B
P — Y p
S0 ™ e
() Find the lengthof PO. =~ s e o B R B el

(i) Find the length of RO.

(i) ' (a) Find the vi{-idthfpfl the road. or (b) If the angle of eleVéfiori m;de.‘b'y f’Q i
© 45°, then find the length of PO. Snen e L RO e O el .
ﬁ"
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